
April 2024 RFK Quiz 
 
 Answer the questions below with where the ball will next be snapped, what down 
it will be and clock status.  Be aware the offended team might have options, to list 
both options.  Answers will come out in 2 weeks. 
 
 
1.​ A 3/14 at the A-16. A32 takes the handoff at the A-11-yard line. B96 twists and turns A32’s 

facemask causing him to fumble at that spot. The ball is scooped up at the A-11-yard line by A86 
who runs to the 50 where he is tackled inbounds. 

 
 
 
 
2.​ A 3/14 at the A-16. A32 takes the handoff at the A-11-yard line. B96 hits A32’s causing him to 

fumble at that spot. The ball is scooped up at the A-11-yard line by A86 who runs to the 50 
where he is tackled inbounds by the facemask. 

 
 
 
 
3.​ A 3/14 at the A-16. A32 takes the handoff at the A-11-yard line. B96 twists and turns A32’s 

facemask causing him to fumble at that spot. The ball is scooped up at the A-11-yard line by B86 
who runs to the A-6 where he is tackled inbounds. 

 
 
 
 
4.​ A 3/14 at the A-16. A32 takes the handoff at the A-11-yard line. B96 hits A32’s causing him to 

fumble at the B-30. The ball is scooped up at the B-30-yard line by B86 who runs to the 50 
where he is tackled inbounds by the facemask. 

 
 
 
 
5.​ A 4/8 at the A-45.  Team A’s punt is caught at the B-26 and returned to the A-3 where the ball is 

fumbled.  Prone A88 recovers the fumble at the A-5.  During the kick, B66 holds at the 50 yard 
line.  

 
 
 
 
 
6.​ A 4/8 at the A-45.  Team A’s punt is caught at the B-26 and returned to the B-30 where the ball is 

fumbled.  Prone B88 recovers the fumble at the B-35.  During the kick, B66 holds at the 50 yard 
line.  

 
 
 



7.​ A 4/8 at the A-45.  Team A’s punt is caught at the B-26 and returned to the B-30 where the ball is 
fumbled.  Prone B88 recovers the fumble at the B-35.  During the kick, A66 holds at the 50 yard 
line.  

 
 
 
 
8.​ A 3/G at the B-9. B10 intercepts the pass 2 yards in the EZ. B10 returns the ball to the B-4 and 

fumbles. A20 bats the loose ball forward at the B-2 and the ball hits the pylon before it is 
recovered by another player. 

 
 
 
 
9.​ A 3/G at the B-9. B10 intercepts the pass 2 yards in the EZ. B10 returns the ball to the B-4 and 

fumbles. A20 bats the loose ball backwards at the B-2 and the ball goes out of bounds at the B-5. 

 
 
 
 
 
10.​A 3/G at the B-9. B10 intercepts the pass 2 yards in the EZ. B10 runs in the end zone avoiding 

defenders till he fumbles the ball in the end zone. A20 bats the loose ball backwards in the end 
zone and it rolls out of bounds at the B-5. 

 

 


